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Chapter 8 - Similarity
8.1 Similar Polygons..

Bellwork - Solve the proportion.
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Corresponding Parts of Similar Polygons

Triangle ABC is similar to triangle DEF
AABC ~ADEF

1. Corresponding angles are congruent

2. Sides are enlarged or reduced by a scale
factor, k (corresponding sides are
proportional)

E
B ka kc
_:
A > ad

T
Corresponding angles Ratios of corresponding side lengths
= - = DE _ EF _ FD _
/A=/D,/B=/E,/C=/F - Bc-a- X
\. .
In the diagram, 2ARST ~ 2 XYZ. T
Z
a. Find the scale factor from 2aRST to 2 XYZ.
(2 25 20 15/ \18
XY _ |2 | 2
—_— - — - J
PS 20 7] X 12 Y
- R 20 S

b. List all pairs of congruent angles.

LAE LS ELK LCZ L
c. Write the ratios of the corresponding side
lengths in a statement of proportionality.

xz .20 X
2T TS T sk
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In the diagram, aJKL ~ 4PQR. {
\2 - | 2
1. Find the scale factor from 2JKL to 2PQR. pk{ e = =

gL 8 |Z

2. List all pairs of congruent angles
n
= L4 = f “L
LS’[’“Pp LL/Z L_ﬁ—) LK: LQ
3. Wrrite the ratios of the corresponding side lengths in a statement of

roportionality.
prop y 8 i@_ Q 'Z . QP
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Decide whether ,%_QaJ_E and @iP are similar. Explain your

reasoning. " &
' o ¥ e % .3 c[‘“”““*
2 @’ﬂ”a,n¢ 6 fﬂ\ J
Z‘ : .% . 2 C% :77 g 1 t FaY
2 37 2 % g valdivs equat

Corresponding Lengths in Similar Polygons
If two polygons are similar, then the ratio of any two corresponding lengths in
the polygons is equal to the scale factor of the similar polygons.

“

In the diagram, ADEF ~ s MNP.
Find the value of x. 15&

ED EE
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(B=X)
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In the diagram, A TPR ~ s XPZ.
Find the length of the altitude PS.

O\ S
L
N\
<
;m A ;
/r
N o <o X

5, =X
PS = 15|
2. Find the value of x. 3. Find KM.
A 12 G O H
Q
VAR = m W
D 16 C T 8 S J ag M "
ABCD ~ QRST sJKL ~aEFG
X b L(O - 29
v 1 X
LU =3¥ [p%0 = 10K
¥ (02
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Theorem 8.1 Perimeters of Similar Polygons

If two polygons are similar, then the ratio of L p Q
their perimeters is equal to the ratios of their K
corresponding side lengths. D

N M s R

PO+OR+RS+SP _PQ _OR_RS _SP
~ PORS PO _QR RS _oP
If KLMN ~ PORS, then o= o T N T NK KL LM MN _ NK

Proof Ex. 52, p. 426; BigldeasMath.com

A town plans to build a new swimming pool. An Olympic pool is
rectangular with a length of 50 meters and a width of 25 meters. The
new pool will be similar in shape to an Olympic pool but will have a
length of 40 meters. Find the perimeters of an Olympic pool and the
new pool.

W _ P

S \20 o
: Ho
= LOO
(0 )
The two gazebos shown are similar pentagons. Find the perimeter of
Gazebo A. - 14 A
Gazebo B —_— T =
Gazebo A (A 2
15
A10m B FE2 G
X )< 18m| \7)%,_ 5?
E D i




8.1 - Similar Polygons.notebook
If two polygons are similar, then the ratio of
their areas is equal to the squares of the ratios
of their corresponding side lengths.

N Area of PORS (PQ) =(QR)2=(£§)2=(§_E)2
If KLMN ~ PQRS, then Area of KLMN KL i

Proof Ex. 53, p. 426; BigldeasMath.com

In the diagram, 2£ABC ~ 2DEF. Find the area of 2DEF. 2\5/ or
B
E 7 o 7 I'L”\lo
10 cm 5 em ii %
D F '

\1% = 4a”

A C .y
Area of AABC = 36 cm? (_‘:_9/__>L - ( i) !
(0 e | 32* at
G2

Y

T

In the diagram, GHJK ~ LMNP. Find the area of LMNP. .

P L ;"l' 7 \ ’l_ 3 (ﬁ)ia
K G A ) A

7m 21 m 2
- T
217 a?

Area of GHJK = 84 m? N M 'M FUY*
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Homework:
pg. 423 #4-22 Evens, 37, 40-41



